X (X-Efficiency)
X .. 2534 - 2539
X ,

5.1 X

X

Translog Cost Function

INTC = b0+ & Ingx+b2[ng2+b2[ q2-fcl2In™jIn <
+0XR[ aqx[ q2+c22[ q2[ q2+ [

15
2534 - 2539 6 (In )

51 2

(InvfY)  random error



INEjt = \nuit + Inv{y

Yijlnvz =0
t
= 0
lEEAtln %
(InmY)
5.2
(Inw[ )
i [ exponential

EFFit =exp(ln ' - In a)

X 0-

1

92



51

2534
0.026746
-0.083334
0.138904
0.091529
0.114469
-0.024206
0.014131
-0.429648
0.036495
0.127421
-0.213189
0.173051
0.204887
-0.062949
-0.114309

(In£1)

2535
0.023218

-0.079354
-0.102045

0.122137
0.115994
0.143366

-0.245851

0.001962
0.040522
0.011978

-0.121121
-0.115226

0.141371
0.052537
0.010560

2536
-0.182590
0.052464
0.160593
0.104396
0.112693
0.123350
-0.524908
0.036544
0.003062
-0.032972
0.070269
0.078291
0.270415
-0.066745
-0.204862

2537

-0.047838

0.104046
0.248393

-0.061236
-0.012657

0.106038

-0.582595

0.088563

-0.030444

0.032916

-0.072867

0.148684
0.270775

-0.062486
-0.129294

2538

-0.143090

0.188379
0.201244
0.057275
0.056952
0.070295

-0.549166

0.022996

-0.002508
-0.115096
-0.058761

0.130514
0.275401

-0.133553
-0.000927

93

2539

-0.100695

0.098775
0.211384

-0.007560

0.010009
0.007144

-0.537298

0.132847
0.085940
0.180657

-0.194498

0.015769
0.266742
0.021418

-0.181661



5.2

2534

-0.090199

0.007286
0.164114
0.043002

0.056588
0.090039

-0.487964

0.056582
0.019314
0.015497

-0.075387

0.051612
0.244941

-0.039566
-0.101237

2535

-0.089493
0.070206
0.192104
0.036881

0.056293
0.056524
-0.435967
-0.029740
0.018509
0.038585

-0.093800
0.109267
0.257644
-0.062663
-0.126211

L7
2536

-0.048332
0.045702
0.139576
0.040429

0.056944
0.060527
-0.380156
-0.036656
0.026001
0.047575

-0.132078
0.070564
0.231835
-0.038807
-0.083126

2537

-0.075282

0.035386
0.122016
0.073555

0.082014
0.063990

-0.368618
-0.047060

0.032702
0.034398

-0.103451

0.056485
0.231763
-0.039658
-0.098240

2538

-0.056232
0.018519
0.131446
0.049853

0.068092
0.071138
-0.375304
-0.033946
0.027115
0.064000

-0.105762
0.060119
0.230838
-0.025445
-0.123913

94

2539

-0.064711
0.036440
0.129418
0.062820

0.077480
0.083769
-0.377678
-0.279583
0.009425
0.004849

-0.079125
0.083063
0.232570
-0.054639
-0.067191



5.1.1

5.

5.3

8" 2539 ,

15( 2539):

95

. .2534-2539
-0.368618  -0.487964

(productivity)

167.( )



53

2534

0.672
0.609
0.521
0.588

0.580
0.561

0.580
0.602
0.604

0.662
0.583
0.480
0.639
0.679

2535

0.707
0.602
0.534
0.623

0.611
0.611

0.666
0.635
0.622

0.710
0.580
0.500
0.688
0.734

2536

0.718
0.653
0.595
0.657

0.646
0.643

0.709
0.666
0.652

0.780
0.637
0.542
0.711
0.743

EFFit =exp(In«*in —1

2531

0.746
0.668
0.612
0.643

0.637
0.649

0.725
0.669
0.668

0.767
0.654
0.549
0.720
0.763

2538

0.721
0.674
0.602
0.654

0.642
0.640

0.7111
0.669
0.644

0.764
0.647
0.545
0.705
0.778

96

in)

2539

0.731
0.661
0.602
0.644

0.634
0.630

0.906
0.676
0.682

0.742
0.631
0.543
0.724
0.733
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0.618
0.631
0.630
0.562
0.534
0.505
0.547
0.512
0.430
0.470
0.588
0.537
0.407
0.487
0.650

(Productivity)

1.710
1.482
1317
1.262
1.104
1161
1.835
1.225
0.777
0.622
1.294
0.927
0.632
0.915
0.953

~N = © © o B~ w N

= = —
S K RE B oG B

0.596
0.509
0.485
0.377
0.354
0.378
0.770
0.428
0.164

-0.766

0.354
0.226
0.132
0.271
0.175

6

—
Ul — O OO0 P~ QO PO

= = -
B o 85 5 o2

(2534 - 25%9)

34.241
30.075
30.659
30.956
28.668
21.392
54.319
29.163
24.783
26.566
30.934
24.306
15.808
27.098
28.729

25.282
24.008
23.256
25.534
23.657
21.152
39.391
21.366
18.249
19.672
21.194
17.39%4
11.298
19.539
21.129

~N = © Ul N o B~ oW

= > e —
oS~ o= % BB

27.679
24,722
24.216
24.743
23.750
22.045
45.298
22.655
19.848
20.331
25.061
19.811
12.262
21.566
20.523
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e s — e
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23
34
38
33
45
47
14
40
66
1
39
[
13
58
65



2534-2539

.. 2534

512

2539

2539

2533 - 2539

2539

5.2

5

2534 - 2538

98



2534 - 2539

5.

2534 2535 2538

5.0

5.2

5.2

-0.099011

X
2534 - 2539

2536 2537

-0.048332

5.9

2539

99



5.5

2534

0.907
0.775
0.875

0.580
0.561

0.580
0.602
0.604

0.974
0.858
0.707
0.940

2535

0.851
0.754
0.881

0.611
0.611

0.666
0.635
0.622

0.968
0.790
0.681
0.938

2536

0.910
0.829
0.915

0.646
0.643

0.709
0.666
0.652

0.816
0.695
0.911
0.952

2531

0.895
0.821
0.862

0.637
0.649

0.725
0.669
0.668

0.852
0.715
0.938
0.995

2538

0.928
0.829
0.899

0.642
0.640

0.711
0.669
0.644

0.982
0.832
0.701
0.906

100

2539

0.904
0.823
0.880

0.634
0.630

0.906
0.676
0.682

0.850
0.732
0.976
0.988



5.2
X
(Ordinary Least Square : OLS) Pooled Data
o)
+
EFF=p0+PXQUIP +J32PE + P3NEAST + P4BRANCH
+pSEQUITY + PHAW + @
2
X 51
2 X
X
X
X 2
521
X
53
() 5.6

R2 06%  Adjusted R2 0.669



102

69.5 F-statistic 26.436
001 99
2.099 Autocorrelation
(EQUIP)
1061 . 0.10 ( t - statistic = 1.746)
X 9
1% X 1.061%
X
(PE)
0.323 . 0.10 ( t- statistic = 1.837)
X 93
1% X 0.323 %



5.6 Regression

LS// Dependent Variable is EFF

Independent Variable
c

EQUIP
PE
NEAST
BRANCH
EQUITY
LAW
A1)

R2 = (.69
Adjusted R~ = 0.669
= 2099

ok 99%
o 95%

t - statistic

F - statistic
Proh(F - statistic) = 0.000

Coefficient

0.224
(233)
1061
(L746
0323
(L83
1689
(-1 966y
0009
(4890
0048
(0563)
0030
(L6
0804
(12639)

= 2643

90%
90%
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, , (NEAST)
-1.689 . 0.10 ( t-statistic =-1.966)
X
%
1% X 168%
33.08
X
(BRANCH) 0.009
001 ( t- statistic = 4.890)
X
%
1% X
0.009%
X
(EQUITY)

( = -0.048 t- statistic = -0.563)



105

X
1 (LAW)
0.030 t - statistic 1621
X
89
.. 253 X 0.030 %
X
5.2.2
X
X 55
N
Regression 5.7
R2 0.919 Adjusted R2 0.891
X
91.9 F - statistic 32.530

0.01 99



2.663
Autocorrelation

- statistic = -0.538 )

0.565

1%

106

Uncertainty Region

(EQUIP)

( =028

(PE)
001 ( t-statistic = 4.903)

%

0.565 %



5.1

Regression

LS // Dependent Variable is EFF

Independent Variable

C
EQUIP
PE
NEAST
BRANCH
EQUITY
LAW

R = 0919
Adjusted R2 = 0.891
= 2663

F-statistic

99%
95%
t - statistic

*k

*

Coefficient

0639
(9477
0282
(053)
0565

(4908

-2.365

(3900

0.004

(3o

-0.154

(-3 2B

0003
(0209

= 32530
Proh(F - statistic) = 0.000

90%

90%
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3 (NEAST)
-2.365 . 001 (0 t-statistic = -3.900)
X
%
1% X 2365%
X
(BRANCH) 0.004
001 ( t- statistic = 3.946)
X
9%
1%
X 0.004%
X
(EQUITY)

0.154 00 (t-statisic =-3265)



t- statistic = 0.200)
2535

1%
Adverse Selection

109

99

X 0.147 %

(Asymmetric  Information)

(LAW )

( = 0.003
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58 Regression
R2 0.855  Adjusted R2 0.818
X
85.5 F - statistic 22.872
. 0.01 99
D.W. 1.832 Uncertainty  Region
Autocorelation

i (EQUIP)
2.243  t-statistic 1.396
X
82
1% X 2.243%
X
(PE)
1.232 . 0.10 (  t-statistic = 1.940)

X 93

1% X 1.232 %



5.8 Regression

LS//Dependent Variableis EFF

Independent Variable Coefficient
c 0053
(-0.241)
EQUIP 2.243
(1.3%)*
PE 1232
(1940
NEAST -10.067
(-2.878)F**
BRANCH 0.016
(3.919)++*
EQUITY 0078
(0.222)
LAW 0.001
(-0.028)
AR(1) 0.666
(4.37)
R2 = 0.855 F - statistic = 2812
Adjusted R2 = 0.818 Prob(F - statistic) = 0.000
= 18%
bk % * 90%
ek B * 90%

t - statistic



0.016%

112

(NEAST)
10,067 . 001 (t-statistic =-2879)
X
1% X 10.067 %
X
(BRANCH) 0.016
001 ( t-tatistic = 3.919)
X
99
1% X
X
(EQUITY)
X
( =078

t- statistic =-0.222)



t - statistic =-0.028)
.53

Regression

0.800

80.0
001

Adjusted R2

1.392
Autocorrelation

t- stafistic = 0.168)

0.733
F- statistic

Uncertainty Region

113

(LAW)

=-0.001

59 R

12.024

9

(EQUIP)

= 0.196



59 Regression

LS//Dependent Variable is EFF

Independent Variable Coefficient
c 0.761
(4.7%)
EQUIP 0.1%
(0.168)
PE 0141
0.5%
NEAST 0530
(0512)
BRANCH 0,001
0321
EQUITY 1926
(1977
LAW 0041
(-L422)
R2 = 0800 F - statistic = 12042
Adjusted R2 = 0.733 Prob(F - statistic) = 0.000
D.w. = 132
ok % * W%
ek B 0%

t —statistic



t—statistic = 0.5%)

t-statistic = 0512)

115

(PE)

X

( =041

X
(NEAST)

X

( =053

(BRANCH)
X

=-0001 t- statistic =-0.321)
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(EQUITY)

1926 . 010( t—statistic =1.977)
X 93
1% X 1.926%
X
(LAW)
0041 t - statistic 1422
.. 2535 X
8
.. 535 X
0.041 %

(B9
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5.2.3 3
X
3
X
3
X
( 5.10)
1 (EQUIP)
X
X
X
X 2
X
2 (PE)
3
X 3
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Regression

LS//Dependent Variable is EFF

Indlependent

Variahle
C

EQUIP
PE
NEAST
BRANCH
EQUITY

LAW

Coefficient
0.639
(9.477)
0.282
(-0:539)
0.565
(4.903)***
-2.365
(-3.900)*
0.004
(3.946)
0.1%4
(-3.265)***
0.003
(0.200)

99% o
95% *
t - statistic

Coefficient
0.053
(-0.241)
2.243
(1.3%)*

1232
(L340
-10.067
(-2.878)+*
0.016
(3.919)+
0078
(022)
0.00L
(-0.028)

118

Coefficient
0.761
(4.794)
0.19%
(0.168)
0141
0.5%
0.530
(0512)
0001
0321
1.926

(1977
0041

(-1.422)*

0%

0%



3.14)

340 - 460

119

(NEAST)
X
2
X
(BRANCH)
X
0-35
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25-110

5 , (EQUITY)

Adverse Selection



121

(LAW)

253
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